\\ // VAREX HE-50-51/100-101/110-111/320-321

I M A G | N G I ———

Heat Exchangers
Installation Information

HE-50/HE-51 HE-100/HE-101
page 2-3 page 4-7

HE-110/HE-111 HE-320/HE-321
page 8-11 page 12-14

132839-000 Rev C 02/2022 Copyright © 2022, Varex Imaging]Corporation. All Rights Reserved.



\\ / VAREX E-50/HE-S:

I M A GI N G

Installation Information

Outline Drawing
DESCRIPTION:

Heat Exchanger (oil to air) with single fan. For use
with B-130H and B-160H housings.

PERFORMANCE:
600 W with 50° delta T (48.6 kHU/minute). Refer to ﬁ

cooling chart for other delta T ratings. L — [373?]
! 4.50

[ha.2) 1.00

HOSE LENGTH: (25 3)
5 feet maximum (1.5 meters)

POWER REQUIREMENTS:
HE-50 110-120 VAC 50/60 Hz 3.2 Amps
HE-51 200-240 VAC 50/60Hz 2.5 Amps

DIMENSIONS:

Width 4.5 inches (114 mm)
Length 8.5 inches (216 mm)
Height 4.2 inches (107 mm)

WEIGHT:
6.6 Pounds (3.0 kg)

MOUNTING:

Select mounting location where ambient temperature
islow. Connect power cord to source thatis energized
whenever x-ray tube with heat exchanger is selected

Dimensions are for reference only

AIR FLOW

\MOUNTING HOLES

a=§ M5X.8 (4)PLCS

OlL ouT

GZJ 7.25

(15.9] (84

OIL IN —

POWER CONNECTOR

NOTES:
I. ALL DIMENSIONS IN INCHES AND °MILLIMETERS

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
2



\\\/ \,/ﬁe !EN)g HE-50/HE-5]

Oil TEMP. mnus Air TEMP. (°C)

Heat Exchanger

Wiring Diagram

N
¢ —
— I
o =
D
FAN
) GRN

COOLING CHARACTERISTICS
Oil-Air (AT) vs. Cooling Rate
115 Volts 60 Hz

70

-
-~
-~
_ -~

60

_ P /

4
50 — //
» ~ /
_ ~ /
40 =
s ~ /
_
30 _ // /
///
//
20 > - — — Dissipation at 1250 Meters
L~

Dissipation Sea Level
10
0

0.15 0.20 0.25 0.30 035 040 045 050 055 060 065 070 075 0.80
Cooling Rate (kW)

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
3



/ VAREX HE-100/HE-101

M A G | N G I
Installation Information

\

DESCRIPTION:

Heat Exchanger (oil to air) for use with B-130H,
B-150H, B-160H and B-180H housings. Oil pump is
quiet centrifugal type.

PERFORMANCE:
1130 W with 50° delta T (91.5 kHU/minute). Refer to
cooling chart for other delta T ratings.

The HE-100 provides less than 54 db of noise level.
The pump noise has been reduced so that the 100
CFM fan is the only source of noise.

HOSE LENGTH:
30 inches minimum (0.75 meters), 40 feet maximum
(12 meters). Quote desired length when ordering.

Note: Hose length’s longer than 5 feet (1.5 m) require
the IK-124 HE diaphragm Kkit.

POWER REQUIREMENTS:
HE-100 110 - 120 VAC
HE-101 220 - 230 VAC

50/60 Hz
50/60 Hz

1.7 Amps
1.5 Amps

FAIL SAFE DEVICE:

Thermal Switch - Located on housing, normally closed
contacts. Open at 80°C. (Thermal switch is internal
to B-130 housing.)

DIMENSIONS:

Width 9.625 inches (244 mm)
Length 9.125 inches (232 mm)
Height 4.75 inches (121 mm)

WEIGHT:
17.5 Pounds (7.94 kg)
21.7 Pounds (9.85 kg) with IK-124

MOUNTING: (See page 15 for mounting template)

A. Select mountinglocationwhereambienttemperature
is low. Heat exchanger should be mounted so that
hoses are not subject to stress, such as stretching,
pinching or kinking.

B. Heat exchanger is provided with threaded holes
(10-32) in mounting stand-offs in base. Mounting
surface should have access on “back” side for
installation of heat exchanger mounting screws.
Use template (provided page 15) and #10 drill to
drill 4 mounting holes. Use 4, #10 lockwashers and
4, 10-32 screws to mount heat exchanger. Screw
length must be equal to thickness of mounting
surface plus 3/16". Shim screws with #10 flat
washers as necessary to achieve 3/16" available
thread for screwing into the stand-offs in heat
exchanger base.

C. Connect power cord to power source appropriate to
heat exchanger model (see power requirements).
Source must be one that is energized whenever
x-ray tube with heat exchanger is selected.

D. Connect two black wires from housing thermal
switch to generator interlocks. (B-130 housing -
Thermal switch wires are in stator cable.).

CONNECTING OIL LINES WITH
QUICK DISCONNECT FITTINGS:

To prevent air in housing from oil line quick disconnect
fittings observe the following procedures.

A. Do not apply any side pressure on fittings such as
from tie-wrapping to cable bundles or looping in
tight circle.

B. Dress heat exchanger hoses so that no kinking,
pinching or pressure is exerted on them during any
movements of the housing.

C. Neverrunheatexchanger withfittings disconnected.

D. Always return heat exchanger with x-ray tube
regardless of reason for return.

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.

4



\\\/ \,/ﬁe !EN)g HE-100/HE-101

Heat Exchanger

Outline Drawing

Dimensions are for reference only

J

4X1032 1.25

I

O

u___l____  —

e— F ——

OPTIONAL: IK-124
EXTERNAL DIAPHRAGM

FOR LONG HOSE DIMENSIONAL DATA
APPLICATION INCHES mm
DIM REF REF
A 9.60 2439

B 3.88 08.4

C 2.75 69.9

% D 0.50 12.7

{ E 4.73 120.1
G F 0.23 58
H ‘ G 400 | 1016
¥ H 2.09 53.1
J 0.70 17.9

K 1.04 26.3

L 2.40 60.8
M 4.50 114.3

N 2.55 64.8
P 9.60 243.9

R 0.84 21.3

S 1.90 48.1

T 1457 | 370.1

U 0.59 15.0
Y, 7.20 182.9

W 5.91 150.1

X 1.38 35.1

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
5



W VAREX {E-100/HE 10

M A G | N G |
Heat Exchanger

Cooling Characteristics

OIL - AIR (AT) vs. COOLING RATE
115/230 VOLTS 60 Hz

70 —— 10
/

E: 60 60

= /

a 50 ] 50

z -

— . /

x 40 <] 40

<

3 30 ///// 30

k=

€ / —

. A

o 20 — 20

uz-l / EXAMPLE: AT SEA LEVEL MAXIMUM

— OiL TEMP. -85°C .

0= Hednie e 0

) PR CART oS 1 2 skw

0 | 1 { | o
KW 1 2 3 4 5 6 1 8 .9 : ) .
KHU .14 .27 .41 54 68 81 .95 1.1 1.2

{per second)
COOLING RATE

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
6



\\ / VAREX E00/HE-101

M A G | N G |
Heat Exchanger

Wiring Diagram

HE 100/HE 110 120VAC HE 101/HE 111 220VAC
THREE CONDUCTOR CABLE THREE CONDUCTOR CABLE
AMP 206708-1 i
HE— o HE—~ AMP 206708-1
o 7000 — 746467
o ! BLACK (40°/1 METER) . 4 BLACK (40"/1 METER)
i 5 |
10VAC 1o CREENYELOW 220 VAC - 2 GREEN/YELLOW
| 5 |
o WHITE & 6 WHITE
BROWN BROWN
THERMAL THERMAL
LOCATED
SWITCH SWITCH LOCATED
ON HOUSING R G
BROWN BROWN
HE 100/HE 110 120VAC HE 101 /HE 111 220VAC
FIVE CONDUCTOR CABLE FIVE CONDUCTOR CABLE
AMP 206708-1 " AMP 206708-1
HE Va /P/N 10137 (100FT/30 METERS) /_ P/N 10137 (100FT/30 METERS)
—t T
i Y e ¢ 4 GREEN
T\ 1 / \‘ BLACK i (]: / ‘\ BLACK
120 VAC P P
° | | GREEN/YELLOW 22f VAC K i GREEN/YELLOW
AT T —a T
' 3 L whie | 3 L e
O T 7 '\\ !
(L/ o \ ke $ v/ RED
4] - L]
BROWN BROWN
THERMAL LOCATED
THERMAL LOCATED NOTE: WIRING DIAGRAM
SWITCH ONHOUSING  FOR 5 CONDUCTOR SWITCH ONHOUSING
- UNIVERSAL UNTERMINATED CABLE
BROWN BROWN

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
7



HE-110/HE-111
e
Ne Installation Information

/VARE‘(

M A G |

\

DESCRIPTION:

Heat Exchanger (oil to air) for use with B-130H, B-150H,
B-160H and B-180H housings. Qil pump is gear type,
somewhat noisy.

PERFORMANCE:
1000W with 50° delta T (81 kHU/minute).
Refer to cooling chart for other delta T ratings.

HOSE LENGTH:
30 inches minimum (0.75 meters), 40 feet maximum
(12 meters). Quote desired length when ordering.

Note: Hose length’s longer than 5 feet (1.5 m) require
the IK-124 HE diaphragm kit.

POWER REQUIREMENTS:
HE-110 10 -120 VAC 50/60 Hz
HE-11 220 -230 VAC 50/60 Hz

1.5 Amps
1.0 Amps

FAIL SAFE DEVICE:

Thermal Switch - Located on housing, normally closed
contacts. Open at 80°C. (Thermal switch is internal
to B-130 housing.)

DIMENSIONS:

Width 9.625 inches (244 mm)
Length 9.125 inches (232 mm)
Height 4.75 inches (121 mm)

WEIGHT:

17.5 Pounds (7.94 kg)

21.7 Pounds (9.85 kg) with IK-124
U/L and CSA listed.

MOUNTING: (See page 15 for mounting template)

A. Select mounting location where ambient
temperature is low. Heat exchanger should be
mounted so that hoses are not subject to stress,
such as stretching, pinching or kinking.

B. Heat exchanger is provided with threaded holes (10-
32)inmounting stand-offsin base. Mounting surface
should have access on “back” side for installation
of heat exchanger mounting screws. Use template
(provided page 15) and #10 drill to drill 4 mounting
holes. Use 4, #10 lockwashers and 4, 10-32 screws
to mount heat exchanger. Screw length must be
equal to thickness of mounting surface plus 3/16".
Shim screws with #10 flat washers as necessary to
achieve 3/16" available thread for screwing into the
stand-offs in heat exchanger base.

C. Connect power cord to power source appropriate
to heat exchanger model (see power requirements).
Source must be one that is energized whenever
x-ray tube with heat exchanger is selected.

D. Connect two black wires from housing thermal
switch to generator interlocks. (B-130 housing -
Thermal switch wires are in stator cable.).

CONNECTING OIL LINES WITH
QUICK DISCONNECT FITTINGS:

To prevent air in housing from oil line quick disconnect
fittings observe the following procedures.

A. Do not apply any side pressure on fittings such as
from tie-wrapping to cable bundles or looping in
tight circle.

B. Dress heat exchanger hoses so that no kinking,
pinching or pressure is exerted on them during any
movements of the housing.

C. Neverrunheatexchanger withfittings disconnected.

D. Always return heat exchanger with x-ray tube
regardless of reason for return.

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.

8



\\\ \,/ﬁe I,EN)§ HE-110/HE-1T1

Heat Exchanger

Outline Drawing

Dimensions are for reference only

R
T

\
A

EXTERNAL DIAPHRAGM GRS | =

FOR LONG HOSE bt 2 e

APPLICATION DM REF REF
A 9.60 243.9
B 3.88 98.4 |
C 2.75 69.9
D 0.50 12.7
E 4.73 120.1
F 0.23 5.8
G 4.00 101.6
H 2.09 53.1
J 0.70 17.9 |
K 1.04 26.3 |
L 2.40 60.8
M 4.50 114.3
N 2.55 64.8 |
P 9.60 2439 |
R 0.84 213 |
S 1.90 48.1
T 14.57 370.1 |
u 0.59 15.0 |
Y 7.20 182.9
W 5.91 150.1
X 1.38 35.1

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
9



\\ // VAREX HE-110/HE-1T]

I M A G | N G |
Heat Exchanger

Cooling Characteristics

OIL - AIR (AT) vs. COOLING RATE
115/230 VOLTS 6 HZ

70 70
_. 60 // 60
g 50 // — 50
< 40 A 40
< N
£ B
£ 30 // (] 30
o // EXAMPLE: g'IFLS]I_EéA\MIgEVEIégQéXIMUM
2 P e AMBIENT AIR TEMP. -30°C
w20 = AT EQUALS 55°C 20
= / MAXIMUM COOLING RATE
@) / PER CHART EQUALS 1.1 KW
10 /// 10
0 0
KW .1 2 3 4 5 6 7 8 9 10 1.1 12
KHU.14 27 .41 54 68 .81 95 11 1.2 14 15 16

(per second) COOLING RATE

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
10



\\ / VAR EX HE-110/HE-111

M A G | N G |
Heat Exchanger

Wiring Diagram
100/HE 110 120VAC HE 101/HE 111 220VAC
THREE CONDUCTOR CABLE THREE CONDUCTOR CABLE
AMP 206708-1 i
HE—\ o HE_\ AMP 206708-1
— 746466 — 746467
o ! BLACK (40°/1 METER) . 4 BLACK [40"/1 METER)
i 5 |
IDVAC o CREENYELOW mvne 5 GREEN/YELLOW
| 3 |
o WHITE & 6 WHITE
BROWN BROWN
THERMAL THERMAL
LOCATED
SWITCH SWITCH LOCATED
ON HOUSING LOCATER G
BROWN BROWN
HE 100/HE 110 120VAC HE 101 /HE 111 220VAC
FIVE CONDUCTOR CABLE FIVE CONDUCTOR CABLE
AMP 206708-1 HE AMP 206708-1
HE /_ /P/N 10137 (100FT/30 METERS) e P/N 10137 (100FT/30 METERS)
7 o N 4 _#_GReen
\ 1 { \ BLACK ' 4 [\ mac
| o — | T
120 VA oo | i
OVAC s || GREEN/YELLOW 22f vaC s | | GREEN/YELLOW
AT T —a T
! 3 L] whme ‘ 3 V! e
ro \ i \\ i
l/ . e 6 ./ _RED
4] : L]
BROWN BROWN
THERMAL LOCATED
THERMAL LOCATED NOTE: WIRING DIAGRAM
SWITCH ONHOUSING ~ FOR 5 CONDUCTOR SWITCH ON HOUSING
- UNIVERSAL UNTERMINATED CABLE
BROWN BROWN

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
1



\\ / VAREX HE-320/HE-321

M A G | N G I
Installation Information

DESCRIPTION:

Heat Exchanger (oil to air) with single fan. For use
with B-160H, B-180H and MAMRAD-105H housings.
Oil pump is gear type.

PERFORMANCE:
2.4 KW with 50° delta T (194 kHU/minute). Refer to
cooling chart for other delta T ratings.

HOSE LENGTH:
30 inches minimum (0.75 meters), 40 feet maximum
(12 meters).

Note: Hose length’s longer than 5 feet (1.5 m) require
the IK-124 HE diaphragm kit.

POWER REQUIREMENTS:
HE-320 110-120 VAC 50/60Hz 2.0 Amps
HE-321 220-230 VAC 50/60Hz 1.2 Amps

FAIL SAFE DEVICE:
Flow Switch - Normally open contacts.
closed with adequate oil flow.

Contacts

DIMENSIONS:

Width 9.125 inches (232 mm)
Length 16 inches (406 mm)
Height 5.25 inches (133 mm)

WEIGHT:
26 Pounds (11.8 kg)

MOUNTING:
Select mounting location where ambient temperature
is low.

Connect power cord to source that is enegerized
whenever x-ray tube with heat exchanger is selected.

Connect flow switch and thermal switch on housing in
series with existing exposure interlocks.

CONNECTING OIL LINES WITH QUICK DISCONNECT
FITTINGS:

To prevent air in housing from oil line quick disconnect
fittings observe the following procedures.

A. Do not apply any side pressure on fittings such as
from tie-wrapping to cable bundles or looping in
tight circle.

B. Neverrunheatexchangerwithfittings disconnected.

C. Always return heat exchanger with x-ray tube
regardless of reason for return.

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.



W varex 320/ 32

M AGI N G
Installation Information

Outline Drawing

Dimensions are for reference only

DIMENSIONAL DATA

INCHES mm

DIM REF REF

A 15.91 404.1

B 9.08 230.6

C 0.50 12.7

D 2.25 57.2

E 3.58 90.9

F 0.95 241

G 4.95 125.7

H 1.38 35.1

| 0.52 13.2

J 2.30 58.4

K 1.08 27.4

L 0.58 14.7

M 7.94 201.7

N 0.56 14.2

P 0.45 1.4

Q 10.13 257.3

R 6.27 159.3

S 10.88 276.4

T 0.78 19.8

— U 4.19 106.4

L \Y 1.33 33.8
\ W
° X
T ° Y

q o o
M . (2)  4x1/420
R 4x sTANDOFFs
. i P/N 749642\

oe

N \:_Q—’i IT oy e

- S ——>

-V

COOLING CHARACTERISTICS
HE 320 POWER DISSIPATION

4000
3500 .

3000
2500
2000 /D/
1500 E/
1000 //E/

500 _/ﬂ/

0T 2 w0 a0 s e 70
DELTA OIL TO AIR (C)

[ # HE 320 Sea Level [} HE 3204000 | 1200 M

POWER DISSIPATION (Watts)

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
13



\\ / VAR EX HE-320/HE-321

M A G | N G I
Installation Information

Wiring Diagram

HE-320

P/N 751352 (39.5 FEET) AMP P/N 206708-1
BLACK i 1 k4 LltB6  _TBES
: - ° ?
BLU g‘ YEL
GREEN/YELLOW : ' 5 FAN a
:' :I 120 VAC MOTOR g
! ' J— &
' - BLK
RED
WHITE : : 3 - - ORG
: { hd TTB2 B3 SPLICE
GREEN | : 7 ° °
: :' A A
\ i FLOW SWITCH
f ] CLOSED WITH
' ; FLOW SWITCH / PROPER
! i INTERLOCK ® | owrow
RED \ ! 8 - -
— ° °
HE-321
P/N 751352 (39.5 FEET) AMP P/N 206708-1
BLACK [ 1 _TBI-4 [1816  _TBIS
i ¥ e ¢ YEL
i SPLICE
! | RED r
GREEN/YELLOW ! : 5 FAN BLU
i ! 220 VAC MOTOR S
. = :
! : e =
| '; S oK INSULATE
| | =
WHITE E i 3 - N ORG
i ' TTBI2 TTB2 U TBK3
' !
' !
GREEN | ! 7 o ®
: i ° °
- !
I ! FLOW SWITCH
i i FLOW SWITCH ./., ShSpED WiTH
1 ! INTERLOCK OIL FLOW
| /
| |
. ]
RED \ ! 8 N o
— ® °

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
14



\\ /VARE‘(

I M A GI N G

N\

4 5

e

AR

Heat Exchanger Mounting Template
HE-100, 101 and HE-110, 111

6

#10 DRILL (-194) 4 HOLES

~
7

HOSE CONNECTIONS

JLI

44

A

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
15



\\ /VAREX®

I M A G | N G I ———

Hergestellt von Varex Imaging Corporation
I M A GI N G Fabricado por Varex Imaging Corporation

® Manufactured by Varex Imaging Corporation
\\ // VA R E X Fabrique par Varex Imaging Corporation

Salt Lake City, UT 1-801-972-5000 Specifications subject to change without notice.

o ) Spécifications susceptibles d’étre modifiées sans préavis.
For a complete listing of our global offices, Technische Daten ohne Gewahr.
Visit www.vareximaging.com Especificaciones sujetas a cambio sin previo aviso.

Copyright © 2022, Varex Imaging Corporation. All Rights Reserved.
16



